SEIWA 117
Wk ] e A
X 121602 JC-1516G0 GOX (B®) (BAINE)
&4  |PAO053 JC-1516G0X Hm&
% |mBa—F mB4 SE HE X5
PA0O53 1
01 220331 P31-0 GGE:%h™ V) 1| ¥21,000| (&) 1B & A3
02 220404 LC-4 (5V2) 1 ¥9, 400 (#8) ftiE& A3
03 391556  |#%k&i%/2 b 1556 1 ¥4,000( (1) TESH A3
04 220380N | 9)7-7404- (JC) 1| ¥12,000| (#8) {1E& A3
05 221813 HD60-30M (fi-A b+ 34) (OM) 1] ¥86,000| (&) {tE A3
06 429006 kK- (1/2) (8) 1 ¥6,960| (X) fHEM P
07 429007 wKH-2(3/8) (8) 1 ¥3,000| (K) {tE&H P
08 429002 IR 7k 74 V5-(JC) 1 ¥3,360| (AX) fHEM P
09 420477 & T Etyl(J0) 1 ¥2, 400 (K) tE&H P
10 780022M | Fr O ih” 2byF M22 1 ¥1,920| (XR) RS P
XEFHTITHA, TEXDOEIE, a—FNob BB ZHELESWET LS., BELVHRLET.

XmBBNEROGE. EMBEEMCGYET,

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 2/17

S| |Res
B 121602 JC-1516G0 GOX (%) (BAME)
b BA0093 &4 JC-1516G0X.~7vn-4"-&B (¥D)

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 3/17

vk DT

i 121602 JC-1516G0 GOX (%) (BAME)

b BA0093 &4 JC-1516G0X.~7vn-4"-&B (¥D)
BE | &RE2—F 2K | EfM ikl X5
01 2017024 |FEAEHT -V D#A350K (U -) (Feig 4 m) 1| ¥13,200 P
02 420879  |Th# 3/8PTMx 1/4PTF (CTJ16126, TGC-22PSI) 1| ¥3,000 P
04 222111 |&EH7°5 3TSF (SUS) 1| ¥5,000 A3
05 4210728 |Th# 3/8PTM x 3/8PTF (SUS) JC100, 1011, 1406 1| ¥5,520 P
06 422430  |7vm-% - VB-3 1| ¥17,760 P
08 422310 | BI74Rty b (JCT00, 150, 2006L) 1| ¥4,200 P
09 437564  |$1-7" ¢ 10 x 250L (SGT5, 6, 1506LB) (EBA) 1 ¥300 P
10 422303 |frd>F=y7° I (JC100, 2006L) 1 ¥660 P
11 421377 |RIKY" 340} (CTJ1513G, 15138L0 ) 1| ¥2,640 P
13 4010828 |Th# 3/8PFU x 3/8PTH (B E) (SUS) 1| ¥7,200 P
14 438736 |TW# 1/2PTMx 1/2PTF (JC1006GL, GLB) 1| ¥1,800 P
15 437202C |¥" 34¥}/2PTMx 1/2PFM(MP, JC100, 1011GL) 1| ¥2,160 P

XEFHTTHA, TEXDRIE, a—FNoERBZERARCESVET LS. BEVELET,
XamBRNEROEE. EMBETEMGYFI,

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 417

S| |Res
B 121602 JC-1516G0 (%) (BAMEY)
b BA0093 & %#¢ JC-1516G0.~7vR-4"-&8 (IH)

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 5,17

S| |Res

ik 121602 JC-1516G0 (%) (BAmKEY)

b BA0093 &4 JC-1516G0X.~7vn-4"-&B (IH)
BE HEO—F K ¥ | EM ik X5

BA0093 1

01 201702A |[EAEHT -V D AI50K (U -) (it ) 1| ¥13,200 P
02 401662S |1Mh 1/4PTF x 1/4PTF (FIE) (SUS) 1| ¥3,360 P
03 401661S |¥" 3{vM /4PTMx 1/4PTM(SUS) (JC100, 140, ACS, 1| ¥1,800 P
04 222111 |&Eh7° 5 3TSF(SUS) 1| ¥5,000 A3
05 4210728 |1k 3/8PTM x 3/8PTF (SUS) JC100, 1011, 140G 1| ¥5,520 P
06 429008N |7vB-%" SUH-200 1| ¥21,600 P
07 421074S |1 1/4PTM x 1/4PTF (B 1) (SUS) (JC-GL) 1| ¥5,400 P
08 422310  |B#hI74RtyH (JCT00, 150, 200GL) 1| ¥4,200 P
09 437564  |F1-7" ¢ 10 x 250L (SGT5, 6, 150GLB) (:&EHA) 1 ¥300 P
10 422303 |FMrdFzy7° W (JC100, 200GL) 1 ¥660 P
11 421084S |Y5-v¥" 3{¥1+3/8PFU x 3/8PTM (779-1) (SUS) 1{  ¥9,000 P
12 421574 |&EY 34v+3/8PTM % 3/8PTF (1516G0) 1| ¥1,080 P
13 4210728 |1 3/8PTM x 3/8PTF (SUS) JG100, 1011, 140G 1| ¥5,520 P
14 438736 1M 1/2PTMx 1/2PTF (JC100GL, GLB) 1| ¥1,800 P
15 437202C |W&kIKN 477 1/2x1/2 (Y 34y M /2PTM x 1/2PFM) 1| ¥2,160 P

XEFHTIA, TEXDRRIFE, a—FNoERBZERARTCESVET LS. BEVELET,
XamBRANEROES. ERBETEMGYFI,

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



6,17

SEWA

i

121602 JC-1516G0 GOX (%) (BAME)
BA0062 k%48 JC-1516G0X/ & E

k]
B
ke

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921

Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA /17

S| |Res

ik 121602 JC-1516G0 GOX (#F) (BAME)

ikl BA0062 3t JC-1516G0X/ 2 AR
BE | SEa—F K ¥ | EM ik X5
01 422305M |&E=%1516, 2016G0X 1| ¥46,800({1516GOX AI103148~ P
01 422305N |&E (JC150. 200. 1618GL) (#7) 1 151660 (BEZ)
02 461609 |EE#%200 (S100G, SQP, JG150, 200GL) 2| ¥6,000 P
03 466606 |1° h¥vy7" (S£) 1 ¥100 P
04 466608 (A~ Y- (EEEH) (S£) 4 ¥60 P
05 877301  |&t" UM4 x 30 2 ¥60 P
06 851008  |73vY" fH7x Ty M8 8 ¥120 P
07 421670 |BA#RI L (#7) (GLB) 41 ¥2,400 P
09 422307M |%°v7° A -2=21516. 2016GOX 1| ¥14,400({1516G0OX AI103148~ P
10 409604  |abyn’ - (K140) (HP90, JC150GL/200, TA480) 2| ¥1,320 P
11 201702A |[E HEHF =Y DA 350K (Vv -) Gt ) 1| ¥13,200 P
12 222111 |&EH7° 5 3TSF(SUS) 1| ¥5,000 A3
13 401082S |1Mf" 3/8PFU x 3/8PTM (FZE) (SUS) 1| ¥7,200 P
15 420879 |1 3/8PTM x 1/4PTF (CTJ1612G, TGC-22PSI) 1| ¥3,000 P
16 421072S |z 3/8PTM x 3/8PTF (SUS) JG100, 1011, 140G 1| ¥5,520 P
18 421377 |&RIKY 3{v+ (CTJ1513G, 1513SL0 ) 1| ¥2,640 P
19 422303  |FrDF=y7° I (JC100, 2006L) 1 ¥660 P
20 422430 |7vB-%" - VB-3 1| ¥17,760 P
21 437564  |F1-7" ¢ 10 x 250L (SGT5, 6, 150GLB) (:%EHA) 1 ¥300 P
22 422310 |B®hIT7RtyH(JC100, 150, 200GL) 1| ¥4, 200 P
23 421780  |#&i%+ »7° FWS4030G (1516, 2016G0 1] ¥120,000{ (1B) @7 ") P
23 421780N |3E4+ »7° FWS2 4030G (JC1516, 2016G0) 1| ¥120, 000 (#7) @7 Y P
24 437202C |[WR&skn" 47°1/2x1/2 (" 34V} /2PTM x 1/2PFM) 1| ¥2,160 P
25 438736  |TMk 1/2PTM x 1/2PTF (JC100GL, GLB) 1| ¥1,800 P
26 700026  (EH-25B(At" ) (JC150GC, GL) 1 (18 - &) P
26 701948  [GB29OLN-100 (=%) (1516G0X) 1| ¥178,800( (¥m) P
28 840820 | % EEEAFINEAL Wb M8 x 20 (F) 4 ¥60 P
29 840815K | 4, FEEEfF /XM WIMB x 15 2 ¥120 P

XEFHTIA, TEXDORIE, a—FNobkRBERRCESVFET L5, BRVELETS.
XmBENEROGE., EEBEEEM<GTYET,

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 8/17

S| |Res
B JC-1516G0 JC-1516G0X/2016GOX (BARE)
&85> BA0022 #ti%##JC-1516G0X/2016G0X/ & »7° &B FWS2 4030G (¥F)

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 9,11

Wk ] e A

R |JC-1516G0 JC—1516GOX,/2016GOX (BIRLE!)

#8%F  |BA0022 Zt&#8JC-1516G0X/2016G0X,/ & v7° & FWS2 4030G (&)

K% | mBEa—F mB4 # SE HE X5
BA0022 1

01 423400  [v=h-Mb (FWS4030G) 1 FE & P
02 423401 AhY1-M8 x 70 (FWS4030G) 8 ¥240 P
03 423402 |%vvy7° G1/4” (FWS4030G) 1 ¥600 P
04 423155 [N )77 ASSY (LWS3514G. FWS4030G) 1 ¥1,800|5-9% P
05 423104 [0YvH 2.62 % 17. 13mm (LWS3514G) 6 ¥100 P
10 423109 [0Yy%" 2. 62 % 20. 24mm (LWS3514G) 6 ¥110 P
1 423110 (W 7" %497° (LWS3514G) 6 ¥1, 560 P
12 423428 AhY1-M8 x 22 (FWS4030G) 4 ¥220 P
13 759%" (FWS4030G) 1 FH & P
14 423452 |0Yvh" ¢ 2x70 (FWS2 4030G) 1 ¥240 P
18 423453 A-3-A" 799" ¢ 30x62x21. 25 (FWS2 4030G) 1 ¥6, 120 P
19 53995 -2 (FWS4030G) 1 FE S P
20 423118  |[H4MT 197" AT4y%H (LWS3514G) 1 ¥1, 080 P
21 423412 £° 2bvFy b (FWS4030G) 3 FE P
22 423414 E° Ay (FWS4030G) 3 ¥9, 360 P
23 423416  [0YyH 1.78 x 7. 66mm (FWS4030G) 3 ¥60 P
24 423419 JAME" ¥ (FWS4030G) 3 ¥990 P
25 423420 |avayh (FWS4030G) 3 ¥8, 040 P
26 423135  [A+y7°Yvh” (LWS3514G) 1 ¥360 P
27 423424  [0YvyH 2.62 % 107. 62mm (FWS4030G) 1 ¥340 P
28 423425  |[h3058-2h0n - (Y7) (FWS4030G) 1 ¥3, 840 P
29 423426 (25" 1-M5 x 20 (FWS4030G) 6 ¥90 P
30 423137 0Yvh°1.78 x23. 52mm (LWS3514G) 1 ¥90 P
31 423423  |F4W4YY" -4- (FWS4030G) 1 ¥780 P
32 423418 E"Abvh 4+ (FWS4030G) 3 ¥7, 200 P
33 423417 N 9h797°)uh" (FWS4030G) 3 ¥110 P
34 423415 IKEN7y9+ (FWS4030G) 3 ¥180 P
35 423413 E* 2Ty Yx (FWS4030G) 3 ¥150 P
38 423438 [0Yvh" (5-2730Y°) (FWS4030G) 1 ¥120 P
39 =-273v%" (FWS40306G) 1 FE M P
40 423147 (25" 1-M6 x 20 (LWS3514G) 4 ¥90 P
42 423456 A-3-A"7Yv%" b 40x68x19 (FWS2 4030G) 1] ¥14, 400 P
43 423440  [93v9947 b (FWS4030G) 1| ¥34, 800 P
44 423427 0Yv4° 1. 78 x 14mm (FWS4030G) 1 ¥90 P
45 423142  [%vvy7° G3/8 (LWS3514G) 2 ¥1, 200 P
46 423454  [F4VY-I b 20x28x5 (FWS2 4030G) 3 ¥?2 640 P
47 421710 [0YYh" ¢ 1.78x 31. 47 (GL, GLB, GSB) 3 ¥180 P

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 10/17
Wk ] e A
R |JC-1516G0 JC—1516GOX,/2016GOX (BIRLE!)
#8%F  |BA0022 Zt&#8JC-1516G0X/2016G0X,/ & v7° & FWS2 4030G (&)
H%E |&Ea—F mB4A # SE (i RS X5

48 421708 EEY-) (GL, GLB, GSB) 880320 3 ¥3, 240 P

49 423455 N yFvY7-F (FWS2 4030G) 3 ¥4, 320 P

50 423404  [Ayh YYHT (FWS4030G) 3 ¥280 P

52 423406 [{EEN v+ (FWS4030G) 3 ¥1, 200 P

53 423121 aEN vy (LWS3514G) 3 ¥1,920 P

54 423120  [Ayb Yvh® (LWS3514G) 3 ¥180 P

55 423142 $vv7° G3/8 (LWS3514G) 2 ¥1, 200 P

56 423144  [799%16.7x22 x 1. 5mm (LWS3514G) 1 ¥200 P

57 423145 497" G1/2 (LWS3514G) 1 ¥1, 200 P

58 423146  [799%21.2x27 x 1. 5mm (LWS3514G) 1 ¥230 P

100 423103 KITA(W 177) (129 b64EA) (LWS3020, 3514G/FWS 1| ¥10,200(5-10% (1&5%9) P

101 423411 KITC(t” AbY) (FWS4030G) 11 ¥24,000({21-33% (1&%9) P

102 423457 [N yEvEy b (FWS2 4030G) 1| ¥22,800(47-54% (&%9) P

103 FAVo=lEy b 1] ¥24,000|F B2 5 P

KEFHTIA, TEXDRRIF, a—FNobRBZEHARCESVET LS. BEVLELET,
XmBENEROGE. EEBEEEM<GTYET,

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 11/17

S| |Res
B JC-1516G0/2016G0 (Bt E)
&85> BA0022 #ti$##JC-1516G0/2016G0/ & »7° &B FWS4030G (IR)

2845 AE
31 '

5HRKE

30 29

0l

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 12/17

Wk ] e A

X |JC-1516G0,/2016G0 (BIRE)

E4>  |BA0022 %ci&#8JC-151660/2016G0/ # 7' &F FWS4030G (IH)
K% | mBEa—F mB4 # SE HE X5

BA0022 1

01 423110 (W W7 %497 (LWS3514G) 6 ¥1, 560 P
02 423103 KITA(W 177) (19 b64EA) (LWS3020, 3514G/FWS 11 ¥10,200|13-5% (1&%9) P
03 423109 0Yvh" 2. 62 x20. 24mm (LWS3514G) 6 ¥110 P
04 423104 [0Yy%H 2.62 % 17. 13mm (LWS3514G) 6 ¥100 P
05 423155 [ )77 ASSY (LWS3514G. FWS4030G) 6 ¥1, 800 P
06 423402 |¥vy7° G1/4” (FWS4030G) 1 ¥600 P
07 423401 AhY1-M8 x 70 (FWS4030G) 8 ¥240 P
08 423400 - h (FWS4030G) 1 EE
09 423146  [799%21.2x27 x 1. 5mm (LWS3514G) 1 ¥230 P
10 423145 497" G1/2 (LWS3514G) 1 ¥1, 200 P
1 423404  [Ayb YvHT (FWS4030G) 6 ¥280 P
12 421708 5EY-) (GL, GLB, GSB) 880320 6 ¥3, 240 P
13 423406 [{EEN v+ (FWS4030G) 3 ¥1, 200 P
14 421710 |0Yy4" ¢ 1.78 x 31. 47 (GL, GLB, GSB) 3 ¥180 P
15 423403 KITB (v y¥utyb) (FWS4030G) 1| ¥15,600{11-14% (&%») P
16 423408  [{v4-39} Yvs” (FWS40306G) 3 ¥1, 560 P
17 423144  [799%16. 7% 22 % 1. 5mm (LWS3514G) 1 ¥200 P
18 423142  |%vy7° G3/8 (LWS3514G) 2 ¥1, 200 P
19 423409 [N 9¥VYT-+- (FWS4030G) 3 ¥2.520 P
20 423410  [£40Y-120 x 30 x 5mm (FWS4030G) 3 ¥960 P
21 423427 |0YyH 1. 78 x 14mm (FWS4030G) 1 ¥90 P
22 423421 5399h-2 (FWS4030G) 1| ¥30, 000 P
23 423437 n-3-A"7Yv4" (FWS40306G) 1 EE
24 423147 AhY1-M6 x 20 (LWS35146) 4 ¥90 P
25 423439  |7-273YY" (FWS4030G) 1 BRE
26 423438 oYvh™ (5-273v%°) (FWS4030G) 1 ¥120 P
27 423118  [H4WT 197" 27494 (LWS3514G) 1 ¥1, 080 P
28 423411 KITG(E" Abv) (FWS4030G) 1| ¥24,000(29-34% (&%) P
29 423412 £* 2bvFy b (FWS4030G) 3 RE
30 423413 E* 2bTyvx (FWS4030G) 3 ¥150 P
31 423414 E° Ay (FWS4030G) 3 ¥9, 360 P
32 423415  [KE179Y+ (FWS4030G) 3 ¥180 P
33 423416  [0Yvh™1.78 x 7. 66mm (FWS4030G) 3 ¥60 P
34 423417 N yh797° )b (FWS4030G) 3 ¥110 P
35 423418 E" Abuh 4+ (FWS4030G) 3 ¥7. 200 P
36 423419 AR v (FWS4030G) 3 ¥990 P

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 13/17
Wk ] e A
X |JC-1516G0,/2016G0 (BIRE)
E4>  |BA0022 %ci&#8JC-151660/2016G0/ # 7' &F FWS4030G (IH)
K% | mBEa—F mB4 # SE HE X5

37 423420 avAyh (FWS4030G) 3 ¥8, 040 P

38 423135  [A+y7°YvH” (LWS3514G) 1 ¥360 P

39 423423  |[F4W4VY" -4- (FWS4030G) 1 ¥780 P

40 423137 0Yvh"1.78 x23. 52mm (LWS3514G) 1 ¥90 P

1 423426 AhY1-M5 x 20 (FWS4030G) 6 ¥90 P

42 423424  [0YyH 2.62 % 107. 62mm (FWS4030G) 1 ¥340 P

43 423425 h3995-20n" - ()7) (FWS4030G) 1 ¥3, 840 P

44 423440  [H3v9947 b (FWS4030G) 1| ¥34, 800 P

45 423436 0-3-A"7Yv%" 40 x 68 x 19 (FWS4030G) 1 EE

46 423435 [0YvH 1.78 x 63. 22mm (FWS4030G) 1 ¥240 P

47 423434 4 y-140 x 52 x Tmm (FWS4030G) 1 ¥1,500 P

48 423430 Y1 ¢ 68 (0. 05mm) (FWS4030G) 1 ¥240|4#xty b P

49 423428 AhY1-M8 x 22 (FWS4030G) 4 ¥220 P

50 423429 75vY" (FWS4030G) 1| ¥10, 200 P

XEFHTTA, TEXDRIF, a—FNobRBZERARCESVET LS. BEVLELET,
XamBRNEROEE. EMBETEMGYFI,

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 1417

vk R
B BA0069 7vR-4°VB-3 1516G0 (F) 1516GOX

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 15/17

ek D Tk
A  |BAO069 7vA-%'VB-3 1516G0 (%7) 1516GOX

HE | MEa—F mE%# # TEfi ikl R
BA0069

1
00 423450  [YA" 74y} (VB3) 1
01 422085 |Y" 3{v}(VB3) 1
02 422086 [0Yv4" (VB3) 2
03 422087 [x7°Yuh" (VB3) 1
04 422088A |v1-4-t" v (0Yv)" 42) (VB3) 1
08 422090 |9y vh (VB3) 1
09 422091 [~} (VB3) 1 ¥960
10 422092  |#% -} (VB3) 1| ¥1,000
11 422093  [0Yv4" (VB3) 1 ¥90
1
1
1
1
1
1
1
1
1
1
1

¥3,420)2,5,9,10,11,13,14,18,19 &
¥1, 650
¥90
¥320
¥1,000(5 &¢
¥6, 600

12 422094 |2~ =H#=1)u5" (VB3) ¥710
13 422095 [N yhT97" Yy (VB3) ¥270
14 422096 |0Y»%" (VB3) ¥90
15 422097  |E° AbUEMA - (VB3) ¥3, 480
16 422098  |mysty b (VB3) ¥340
17 422099 |t Abv (VB3) ¥1, 680
18 422101 |0Y»%" (VB3) ¥90
19 422103 [N yhT97" Yy (VB3) ¥340
20 422082 (27" )v9" EES (VBT) ¥240
21 422104 (27" Yv%" (VB3) ¥1,070
22 422083  |ERETyH (VBT) ¥2,760

KEFHTTA, TEXDRRIT, a—FNoERBZHARCESVET LS. BEVLELET,
XmBENEROGE. EEBEEEM<GTYET,

v|VwW|™W|OWW|™W|OWW|™W|OW|™W|OW|™W|OW|™W|OW|™W|TOW|TOW|TO|O| O

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA

16,717

k]

itk ]

B

121602 JG-1516GO (IH)

ke

BA0021 7vm-%" SUH-200

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 17/17

pok] iR

B 121602 JC-1516G0 (IA)

e BA0021 7vn-%" SUH-200
HE | mBa3—F =K - 7E il &% X5

BA0021 1

01 429813  |FA%/7° (SUH200) 1| ¥3,600 P
02 429810 | W7" EREE27° YY) (SUH200) 1 ¥960 P
03 429812  |Ays+y b (SUH200) 1 ¥960 P
04 810304S [/RAIUTLIEA4Y M3 x 4 (SUS) 1 ¥60 P
05 429811 |27°Yv9" " 4+ (SUH200) 1| ¥2,160 P
06 429809S |27° Yv%" ¥-t (SUH200) (SUS) 1 ¥480 P
07 428507 |7y -t" &bV (Y7 3794, SUH200) 1| ¥2,160 P
08 428508 |FE4TE Y p3x 12 (¥ ¥794, SUH200) 1 ¥360 P
09 888010C | yh7y7" Y9  P-10A 1 ¥360 P
10 428510  [0Y»%” AS568-110 (¥ ¥Tv4, SUH200) 2 ¥340 P
11 429801  |7vR-%" A<{K (SUH200) 1| ¥8,400 P
12 880005  [0Yv4" P-5(JC, PE18, 25, ACG, SBR260, ik &liE) 2 ¥240 P
13 888005 (N y4Ty7 Yuh P-5 2 ¥240 P
14 428512N |R-7-t" Abv (¥" 3794, SUH200) () 1 ¥3, 000 P
15 880018  [0Yv4 P-18 1 ¥240 P
16 428516 | 7" =k (¥ 3794, SUH200) 1| ¥2,160 P
17 429808  |mtH F+EE (SUH200) 1 ¥600 P
18 429819 | -W(13/32) (SUS) (SUH200) 1 ¥360 P
19 429807  |AtHiZ77 YY" (SUH200) 1 ¥300 P
20 429806 |& -Wh" 4+ (SUH200) 1 ¥600 P
21 429805 At MY 31V b (SUH200) 1| ¥1,440 P
22 428520 |0Y»%y" JASO-1018 (¥" 794, SUH200) 1 ¥480 P
23 429008N |7vB-%" SUH-200 1| ¥21,600|R%FE 1-22 &8¢ P
24 4285125 [A-7-t" Abv 0" V7" Y—Mey b (SUH200) 1| ¥6,600{=%E 12,13,14,16,22 2% P

KEFHTIA, TEXDRIFE, a—FNo&RBZHARTKCESVET LS. BEVLELET,
XmBBNEROGE. EMBEEEMGTYET,

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



	1
	2
	3
	2 (2)
	3 (2)
	4
	5
	6 (3)
	7 (3)
	8 (3)
	6 (2)
	7 (2)
	8 (2)
	8
	9
	6
	7

